[ Efficiency vs vertpos |
~ 0.7

T R  REGRIIEeE
24 0k : : :
S0.08F et SR e
Q F . . .
G007 oo O R e
o f 1 1
o g
0,05k ++eeeseiesesnenenene o ;
0.04F -+ fromen SR
0.03F+++eereeeresrenenes R ¢

wﬁ

Ratio

3

=
—
=
%
=

10

[EEN
ok
s

10 0?
TP vertr (cr%)

—=— DQM_original_step2_ttbar-phasel-newgeom
Efficiend —e— DQM_pixelCPE_step2_ttbar-phasel-newgeom

—— DQM_pixel CPEANdChi2_step2_ttbar-phasel-newgeom
~ 0.5

$0.45F

o
> 04:—
=035§
5 E
£ 0.3F
o E
0.25F
0.2F
0.15F

0.1
0.05

N
TTTTTTTT]

0 10 20 30
TP vert z (cm)

o
o
|
N
o

~ 0.5
> : : : : : : :
O SRR R S AL ML SR S
£ : : : : : :
e e e s RS M A
e IS SO S O SIS S

y

<3P T U O T
2 Eo : : : : : :

S S e
0.2F ----bemegriemmmmdn b

O TS ITREE PN SRPE
O B ARRLI SITEN SRTPRC SRR
0.05F -+ eeefeiverendenendonndon frendinen

Ratio

N
=

R O U
Sim. PV z (cm)




	Contents
	Page 1


